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BOTANY
( Ge'r}eral )

( Structure, Development and Reprdduction in
- Flowering Plants )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions '

Answer either in English or in Assamese

1. Answer the following questions/Fill in the
blanks : 1x10=10
(@) Whatis the main function of pericycle?
fRese 351 T R 2
(b) What is liana?
el 2
(c) __ is the smallest angiosperm.

TICATSLT T BAAK TRT |

'(d) Who coined the term ‘double
fertilization’? -

“R-fesw’ *Ricer e ffee 2
(e) Age of tree is calculated _.
TEIA NP ______|
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(2)

() What is scutellum?
oo R 2
(g9 What is scion?
, el e
(h) Who coined the term ‘meristematic
tissue’? S
| STER R I TR
() Why are seeds more in a fruit?
9ol Fore &6 R @R =2
() Prokaryote word means
AT R E |
2. ‘Write short notes on : - 2x5=10
v Bt forer '
(@) Vessels
ke -
(b) Significance of double fertilization
fR-Fcyeag wreeif
(c) Artificial propagation
Fhem eremm
(d) Monocot seed
AR BRI =
(e) Shoot apices
. e At
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(3)

3. Write notes on any four of the following :

oo R e IRER CoRe P 5x4=20
(a) Diversity and life span
Rivaret wre g
(b) Glandular hair with diagram
- R AREw
(¢) Heartwood and sapwood
- m«@aﬁwwﬁtw
(d) Layermg
BT FoT
(e) Epidermal tissues
- RRF
4. Answer any two questions : ©10x2=20
R e gt e ey forar
(@) What is meristematic txssue? Write the
' characters of meristematic - tissues.
-Describe the types of tissues based on
origin and position. 1+3+6=10
v I R oe IR @REpmz B
TS o1F TR soIe sy IR TR smmzq
3 M|
(b) .What is tissue system? Describe the
different types of permanent tissues
with suitable example. 2+8=10
wen R RRw oo ¥ W %ﬂq@
CHRIPIR 361 31 |
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(4)

(c) Describe the types and anatomical
structure of leaf in angiosperm. 5+5=10
AR TRWT - G 9P AT SRR 515w
AT T

5. Answer any two questions : - 10x2=20
R e ot 2rR Tes o : '

(a) Describe the process of microspore
formation and development of male
gametophyte (gametogenesis) in
angiosperm with suitable diagram. 5+5=10
BT TRTS AT M7 9T & @Y
Rem Torge wferz 31 31 |

(b) What is the function of endosperm?
~ Describe the types and development of

endosperm with diagram. 2+8=10
SRS I 2 FrRe a9 O R
I

(c) Why are seeds dispersed? What are the
' benefits of grafting? Describe the
importance of floral structure and
function in biology. ‘ 3+4+3=10
o6 1 ReRe =7 @@ s aore &
B2 goR N wiE Iq ErRwre gFg I
*q01

* kX
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